Name % . tZ Diff. Equations and Lin. Alg.
Math 3280, B. Peckham
Quiz 6, Fall 2018
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1. (3pts) Find a basis for the subspace of R* determined by {% = l::vz
T3

€ R3: 21 =z3}. (You

need not prove your answer is a basis.)
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2. (3pts) Determine whether the following set of functions (defined on ®) is linearly independent
or dependent: {e%, e?®, ze®}. Work directly from the definition of linear independence, not

just a determinant. pfefe i Meited 2 & caser Matad 2 deﬁ‘ll fines .
20 x fie, e ke, ke O
Sl ¢ ex*C&ﬁ&GJ,X@ _o((ﬂ,’a:// )C) (,e. fCLomr/,g :,-3
e e T A T HE AR L AR
Mtod |+ Tne forall x = Prue & <« = =(, 0,1 (or any o " x PPN
' " . -t .o wma‘("zo) € tfas H._,’(Kf: € 2o
x-o L bG  FO0 :g (¢ te © oty 7O Rous redacer
K70 (e tc, e 1--(,,.26 : 1, v2e, B G ;D mrﬂs:"ky“‘efs

i L'l + ‘f&z + 29} v
i ou . . . = re z£ T2
rm(.)sr,,.,hd u-{ (3pts) Find the general solution to y” + 2y’ — 15y = 0. Hint: try functions of the form e”}:’ & L t;_’r
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[__, T (Ipt + 2pts EC) Consider the differential equation ay” + by’ 4 cy = e’®. Assume a,b,c are
/'.” . ¥ f . real constants. Assume also that you know two functions that are solutions to this differential

equation: y; and ys. Show that the function ys3, defined by y3{z) = y1(z) Fye(x), is a solution
=% (;7¢,=53%  toay’ +by +cy=0. P
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